| number of missing inner layers | number of missing outer layers
missing_inner_layers missing_outer_layers
lE Entries 374 1 T ™ Entries 374
E Mean 0.6096 ' ' Mean 3.414
r Std Dev 0.5781 N : Std Dev 3.433
10_1 E_ mllsslng;lnnerilayers lo_l """""""" " """"" ‘ o mlssmgiauteri\ayers
= Entries 377 = : Entries 377
r Mean 0.6233 r - : Mean 3.454
Std Dev 0.5793 : . Std Dev 341
1072 T 1072 e EEE R -
E missing_inner_layers E N . missing_outer_layers
o Entries 379 o : i [Entries 379
3| Mean 0.6227 ) R U S 1. | Mean 3.483
10 Std Dev 0579 10 : + |Std Dev 3.425
: - ] : : [
o missing_inner_layers o missing_outer_layers
—4 L Entries 102 —4 L Entries
10 E N . | Mean 0.5 10 E H H Vlean
F : . | Std Dev 0.5801 r : . | Std Dev 3.548
10_55— : 10_55— """"""""" PR R P P
.91059_....|........I............I....I....I....I.... .910—6_
T 3 o T 1.2 cr b
@ L @ L
1+ L
C e
——— . . . . . =- .
0.955 : Ty 0.8 :
0 05 1 15 2 25 3 35 4 45 5 0 20 25
— I ] —_Global_mKFiorigmal_RECO
m——— DQM_V0001_R000000001__Global__mkFitNewDeti__RECO
mean hi{ == DQM_V0001_R000000001 _Global__mkFitNewDett33 RECO
= DOM V0001 R000000001 _Global__mkFitNewDetNoF _ RECO
— 20_ F 7] Entries 374
» L - Mean 11.39
> 18 - - - Std D.ev 4.993
n C L : : 1
= - : hits
= 16 o | | Entries 377
\ o Mean 11.39
14+ Std Dev 4.923
C . ; I
12 - 10 - hits
E r: Entries 379
r - Mean 11.35
10 - : Std Dev 4.935
F - 1. T s e ]
8 __ Lo, A : hits
- . Entries 402
6 R Vean 10.64
C Std Dev 5.267
4 : :
9 C 1=
o O:""!"" o g
= F N N = E +
§ i+ :l 4t i § 1.05F---{-HH{ T4+
F f : 15_- 4]
0.9 N H - E |4 1A
o 0 : : i 0.95F RS T
st . . 1 nE - T +|.L . . .
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits

num_simul_pT

Entries 137153
Mean 2.109
5.975

Std Dev

num_simul_pT

Entries 137290
Mean 2.108
5.973

Std Dev

num_simul_pT

tries 137290
Me: 2.108
Std Dev 5973

num_simul_pT.

Entries 137326
Mean 2.108
Std Dev 5.972
ol
0.95— i i v s
10 1 10 10 10
TP p

[Nofreco track vs pT |

num_reco_pT

Entries 524
r Mean 3.359
il Std Dev 5.493
107 iy St S T i
E N num_reco_pT
N Entries 524
> : Mean 3.316
107 - "|_std Dev 5.473
E : : I
B num_reco_pT
3 B tries || 531
10°F an 3.321
E Dev 5.45
- : |
B num_reco_pT
10_4 Eorrr Entries 560
o Mean 3.705
o Std Dev. 11.06
-5 H
10 e e
- [ B |
0109} T :
= o b 5
S F - HH 4
R 4 -
o 15 gl 1t
0.95f---x-n=x-- :
.0- 1 " 1 3
10t 1 10 10° 10
track p_



	Contents
	Page 1


